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the number of minutes you must l‘ldE""'- %plus $0.30

to have the same cost for each of the j per minute
electric scooter rentals. q-
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$1.50

7. Write and solve an equation to find $1 .00
plus $0.25

the number of minutes you must ride plus $0.30

me-cosf fox¢ycl-of per minute per minute
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Solve the equation. (See Examples 3 and 4.)

\3x+15=3x+5 9. 3x—1=1-3x 10. 55—x=—45—x
S el o >\
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l»11 — 3) —6x+9 12. 2x+4=—(-7x+6 13. 10x———4x 6x ‘
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F 14. YOU BE THE TEACHER Your fne.ugsul
the equation shown. Is your friefyd correg —4(2n— 3) =12—=2&n
Explain your reasoning. 2 V4 —&n+12=12=8&n
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14. YOU BE THE TEACHER Your friend solves

the equation shown. Is your friend correct? —4(2n—3)=12—28n
Explain your reasoning. —-&n+12=12=8n
—&n==5n
15. OPEN-ENDED Write an equation with variables 0=0

on both sides that has no solution. Explain why Fecohitionicn= 0

it has no solution. . S-JM'I"IE n %(cl
b man Y .
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